



**Vendor Ranking** 

Page 1 of 1

01211104 Letting:

November 04, 2021 11:00

Call Order: 004

Contract:

E1U78-R0

District:

District 1

Counties: DIST/ST-WIDE, POLK

Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

AM

**Project(s):** 43272727213 (\*)

Contract Desc: Shoulder Repair (North and South)

Ranl	C Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$298,350.00	100.00%
2	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$306,000.00	102.56%
3	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$323,765.00	108.52%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$413,100.00	138.46%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





### **Tabulation of Bids**

Page 1 of 3

**Letting:** 01211104 November 04, 2021 **Call Order:** 004 **Contract:** E1U78-R0

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272727213 (\*)

Contract Descr: Shoulder Repair (North and South)

The work under this Contract consists of Shoulder Repair (North & South)

Line No / Item ID Alternate	Quantity Units	(1) MIDWESTERN CONSTRUCTION, INC		(2) T & M LAWN-FENCE SERVICE INC		(3) TURTLE INFRASTRUCTURE PARTNERS, LLC	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (REPAIRING NON-PAVED SHLDRS (MANUAL) (SY							
0005 0570 1 2 PERFORMANCE TURF, SOD	76,500.000 SY	2.40000	183,600.00	2.00000	153,000.00	2.81000	214,965.00
0010 E577 70 SHOULDER REWORK	68,000.000 SY	1.50000	102,000.00	2.00000	136,000.00	1.30000	88,400.00
0015 E577 70 1 REWORKING SHOULDERS (SPOT REPAIRS)	8,500.000 SY	1.50000	12,750.00	2.00000	17,000.00	2.40000	20,400.00
0001 REPAIRING NON-PAVED S SHLDRS (MANUAL) (SY)	I	\$298,350.00 \$306,000.00		\$323,765.00			
Contract G	and Totals:		\$298,350.00		\$306,000.00		323,765.00





## **Tabulation of Bids**

Page 2 of 3

Lettir	ng: 01211104	November 04,	2021 <b>Cal</b>	l Order: 004		Contract:	E1U78-R0	
		Quantity Units	(4) ROGAR MANAGEMENT & CONSULTING OF FLORIDA					
	ndicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (REPAIRING NON-PAVED SHLDRS (MANUAL) (SY								
0005 PERFO	0570 1 2 DRMANCE TURF, SOD	76,500.000 SY	3.79000	289,935.00				
0010 SHOUI	E577 70 LDER REWORK	68,000.000 SY	1.81000	123,080.00				
0015 REWO REPAI	E577 70 1 RKING SHOULDERS (SPOT RS)	8,500.000 SY	0.01000	85.00				
0001 REPAIRING NON-PAVED Section Totals: \$413,100.00 SHLDRS (MANUAL) (SY)								
	Contract Gr	and Totals:		\$413,100.00				



11/04/2021

#### **Tabulation of Bids**

Page 3 of 3

**Letting:** 01211104 November 04, 2021 **Call Order:** 004 **Contract:** E1U78-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.